0|5H¢9l Motion Range E|0|SAt0|= TableSize &4 Model Number
50X 50 ZMO5A-C1C

100X 100 ZM10A-C3C

ZMOT7A-C6CO01

£3mm 70X 70 ZMOTA-S3K

o

ZMO5A-C1K

ZMO5A-X1

ZMOTA-S1K

GZMO05S-X1

100X 100 ZM10A-X1
+HLIstE (N) Horizontal Load Capacity (N) 20 25 30

--SlK, ZMO5A-S3K

=& Z AH[O|X|
Manual Vertical Linear Stage

ZM Al2|=
ZM Series

E-006page

E-012page
E-Ol4page
E-006page
E-O12page

E-010page
E-Ol6page
E-008page
E-008page
E-O18page
E-OO6page
E-010page
E-Ol6page
E-Ol6page
E-Ol6page
E-O18page

E-018page
40 50 60 70 100 120

¢

<



=& Z AH|O[X] ZHO[EHA
Understanding Manual Vertical Linear Stage

Mg

Industrial I AI’%‘E EE %,H:g -
Understanding Specifications

dgs
Experi-
mental

ZMOTA-S3K

ASHE Specifications M9 Description
B e @ @4le| B
Model Number Kohzu's significant alpha-numeric model numbers offer quick product insight.
=™ o[22 H4 ZMOTA-S3K-R @ @A@f ch2t oj2{2 el FAIL|C).
Rotation Mirror Model Number Mirror symmetry of standard stage
Eflo]= Afo|= 3 2H|0|X| H|o|EHe| 37|L|ct.
29| Table Size UL Table size refers to the stage's valid mounting table size.
L
Es;i\les:') 7tol= W4 Y 32A52 70| @ AE|0|X[2| 7t0| S EFAIRIL|CE.
(Tilt) Guide Mechanism Cross-Roller Guide Type of guide mechanism used on this stage.
ols s B ZAHES 7|FC2 B34, 0jo| A2 FA|gL|CH
. +3mm Stage travel range in the positive and negative directions from it's centered or neutral
Motion Range position.
ST <4um/6mm ©® HAEE BXHFHR. —ZHAY P-004H 0| x|
Verticality =i See "Kohzu Stage Inspection Standards" section, page P-004.
XXy A BA X8 5um/i£3, 015 0.25um/=2 | @ O0|220/H §IE SO =olgh £ Q= F|AgtelL|ch
X=Xy Minimum Readout Coarse 5um/Scale, Fine 0.25um/Scale Minimum readout is the smallest measurable actuator motion increment.
AmuystE AE|0|X| ZY0ll A EF 7HsBt S2UL|cH
. . 29.4N (3kgf) Maximum load capacity is for a horizontally orientated stage with load centered on
7 Load Capacity (Horizontal) top-plate
z LT 20/5 23 F2 A28 2Lt
Material Aluminum Alloy Material specification is for stage's main body components only.
B or w4 orgt © i2te| 4zt BHH2IYLIct
Rotation Finish Clear-Matt Anodizing Surface finish type and color.
24 0.9k @ H|IZe| Z2AULIct.
A3l Weight K8 Stage weight includes all components depicted in product photograph.
(@Le) 254 Y ZANFPPOS 133 | @ At el A0l0lEL| WAz OlSTRLICE
Swivel Actuator Actuator model number and travel range.
(Tilt) (13mm)
7HA ©® EFEHZQ| 7tz uct
%a}g_:ag Price(JPY) R Catalog price in Japanese currency.
S U HIS 424,000 ~ @ QU{Z BlgelLct. «15H0lx)
Overhaul Price ’ Overhaul price in Japanese currency .<16 page
22102 A nEh| ¥18.000 5 2233|A g H[2YL|CE.  «C-003H|0|X]
Clean Room Lubricant Change Price ’ Clean Room Lubricant change Price in Japanese currency. See page C-003
TZa2|A DEH| ¥18.000 ® ZZ22|A g HIEYLICE  «C-003H|0]X|
Vacuum Lubricant Change Price ’ Vacuum Lubricant change Price in Japanese currency. See page C-003
2E
HEESZ
Motor
Controller
cajolyy
TES
Driver
Box
o{E2|
#old
Applica-
tion
2F
cajolyy
MotorDriver
ZEFH0|E
Motor
Cable
25
Appendix

E-002 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



710| E g4
Guide Mechanism Type

® 2 2AE2 710|E Cross-Roller Guides

IZAEZ J10|=2H 90°2] 2 7%l E2{3|0|ALt HE STIHZ LHE! 710|= HHAQILICE S2{|0|AS| £2I0|HH2 BHEE
Hop opRE|2 HH Mot £ AXZ 020 ASLICEL §IE 2 2712 2213|0|A Aojofl MZ CH2A| biX| £[of
UAELICE AHO|X|7t 2 SE miol= S2{2|o|A Ato|2] oi2{7He| & 227t %|0[7| 2o FHXIAIA S=|Y fe
OpErHSHEX| 0 Rt S0pEe| XH7t Hn, SEHA| 0|n2{F 0| WSty | P FLICt Eot AZAER J0|EE= MYKOZ SIES
X|Eist7| nf20)| 2 710|E RXECH 20| SELICL 0] ARAZE J10|EL SANOE MAE|0] 248t ZAn =2 HE 2
SRS SLICE ot 22{2i0| A FIE SR ZHe| G{RtS HUSHH H2|st] &2 ZHE RAIELICE

The cross-roller guide is a limited stroke linear and bending guide that consists of a roller race and rollers. The
roller race has 90 degree V-shape surface and it is harden and precisely polished. It is not only had a polished
precise surface but also precisely correct 90 degree. The cylindrical shaped rollers are inserted between two roller
races and they are aligned alternately. When the stage is moved, these rollers are rolling smoothly at the same time
with the same tension because the gap between roller race is correctly arranged and maintained for the same
distance. There is no slipping, no stopping due to the effective contact. As one of the feature, it has highly rigid
more than ball guide because it has a longer contact line.

O 71" I 2AEZ 710|E Wedge Type Cross-Roller Guides

H71E I2AES] JH0|=2E 1X2| I=AES J0|EE= 8RR, [HE 1== 1 ag-1
HFo| 1/40| = =5(2f14°) 7|20 M viX|=|o| AZLICH(OY-1&X) 3t v Fig.1
ZolA 47/2 U3, EN50| DHE Hlo|2o| 48+ SxjelLct. 7|20z > gl ¢ | 0IE
IZAEY 710|E7 £HYEo &S XIHsH7| WiZ20f, EHOIE &4HO LSS

DAEE 24| FELict. f

One set of wedge type cross-roller guides are mounted on the _ T
horizontal plane and the other set of guides are tilted so that tangent is = (

1/4 (approximately 14°) (see Fig. 1). If the wedge is pushed in from one
side, the table fixed to the central axis moves vertically. Since the tilted
cross roller guide supports the horizontal component of force, the
moment load rigidity on the table top face is reinforced.

® 1t! 0t3 Gothic Arc

DE oI AES 2= S2to|gBu 22 FHE JH0|E A QL|CE
(D2-2%ZX) ES BE £ato|YH B 0|2 H|o|]A0 XY 7t338tD,
E2E Hol2 0FR22|ELch 22 £210|YHO| BtE= YIE SAL0[of HiX|£[of
UELICE FEHI 22 ME 4F0M FHsH7| w20 SZA| 0j112{F 0|
S5 IEELICE T8t o= 37| 2 O| R0 X|7| 20 5+
HELIch

Gothic arc is guide mechanism that is consist from the pseudo-
cylindrical sliding surface and the ball (see fig-2). This sliding surface
is processed into both of table and base of the stage, and finish in
quench and grind. The ball is set between groove of sliding surface. The
sliding surface touch the ball in each 4 point, then this point contact
mechanism not likely to bring up differential slip. And the size of ball is
used for pressurizing control, it bring decreasing of parts number.

£9l= *TEL:044-981-2131  FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

LA
Industrial

dyg
Experi-
mental

2539

2E|0| x|
Manual
tage

|
Rotation

AL
(mL2)
Swivel

Z
zZ

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

catols
gtA
Driver Box

=2
#Ho|A
Application

2E
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

E-003



gt
Industrial

dgs
Experi-
mental

=™
Rotation

29|
(nLUe)
Swivel
(Tilt)

X+ XY
X XY

NN

bS]
Rotation

29|
(L)
Swivel
(Tilt)

L2RIHE
26|0[x|
X8

Ll
HESY
Motor
Controller

cajol
gfA
Driver
Box

oj=a|
Aol
Applica-

tion

2§
Eajolyy

MotorDriver

DEHoIZ
Motor
Cable

25
Appendix

E-004

=& Z AH[O]X] 7tO|EH A

Understanding Manual Vertical Linear Stage

® 49 Z:2i 22| 7}0|E Tetrahedral Flat Roller

4H Z3 B2 0|F 7|59 44U R /AE ZRIONE tiXIst, O HFZZ0i= 4742
Ztolemoz AYE HHEAILICE 0| 7|5, 7I0|EEE EHSE <ot 0tR2| 2 sk
YA, Xzto| ot o0, 22 0iYE0] AFLICH I2AES 70| =2} Hl w8 A
HEZZUCHS Zo|, 70| B2H, YEUHO0| o 20| F1 XHH|gHgdo| f4ct
FZEYLc

Tetrahedral Flat Roller is guide mechanism, put the ground bearing on to four-
way of transfer post, and set the four guide plate on the outside of bearing. The
transfer post and guide plate are finished highly flatness, squareness and
toughened by quench ground method. Compare with cross roller guide, longer
than length and more quantity of the ground bearing, then bearing area is
large. It is superior in terms of stiffness and angular stability as bearing contact
area is large that's why longer and more quantity of the ground bearing than
cross-roller guide.

HLj7| Al
Lead Mechanism

©® 0j0| 32 2t YA Micrometer and Lever

0lO|2Z0|E| §|= 52| FUeo| B2 2HE 0|83I0] Yot 2 Hetsto| AH|0|X|E
AotRSAIF | SAYJLICL(OY-3RXE) 7|2HQ #Z2E= 25 Z2OH, 010|320|H
SllEYAI R Y ZX ML ErAlo] ASLICH.

This system converts the horizontal force of the micrometer head to a vertical force and moves the stage vertically by

means of a lever (see Fig.3). The basic structure is the same for all types and two actuators, the micrometer head and
fine pitch positioner are available.

® 47| %Al Wedge type Cross-Roller Guides

Ofo|2Z0|E| SIE S2| 2ol &2 A7|(UX])S 08310 AotistoR HEIslo] AH|0|X|S AStTEAIF|= WA L|Ch (0| X]
JZHIET) 7|25 AXEE 25 ZOH, S| 3| HALIA ZZAIH 1SoH= YAITE HY EX|IMLZ 247|8 LoLHE o]
UFLICh

This system converts the horizontal force of the micrometer head to a vertical force by means of a 1/4-wedge and moves the
stage vertically (see Fig. 1 on the previous page). The basic structure is the same for all types and two actuators, direct

connection of the handle-wheel rotation to the driving ground screw and a fine pitch positioner for pushing the wedge, are
available.

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



O| 5 &
Accurate Travel Distance
% Of2Hel ZAH|O|X| EIRI2 OFO|2Z20|HZ 22 gtot &X| 0| s&2 CHELICE

The following type stage, the micrometer measurement display matches the actuator movement distance. With

other stages, the display may not accurately match the actual movement distance.

® 3 1= EFY Micrometer and Lever

OlO|2Z0|E S|E2 Jt5h 12 2l At Weto| gl 2 Metst= EFRIQILICEL(OR-34ZE) HUst 0|52 2t e BHEIHEH
™t 22 EMX|C| H2|, O2|1 oto|2 20| =9 At HEHS| &H4-2 EA|E/LICE 00| 220|H 8= 0|52k 2F1/20|
25t 0| 52H0| ElLIct.

The force that is generated by pushing with the micrometer head is converted to a vertical force by means of a lever
(see Fig.3). The precise movement distance is indicated by a function of distances from the fulcrum of the lever to

the power point and to the action point, and by the shape of the micrometer head tip. The vertical movement
distance is approximately 1/2 of the micrometer head movement distance.

® 2{7] = EIR} Wedge Type Cross-Roller Guides

SO ZHE AAMLIAL EE HY ZXMUZ 7|8 Yo{HO =M AR AHO[X|J} AstpSEL ct (A 0|X| 2&-14ZX)
H7|= SEHITt 1:4017] th20i 2472 LojLl= Q! 1/40| &dt O|SULICE MSEIYC| AR, 131HE 0.125mm, 1=3E
10um O|SEfLIct HY EX|ML{Q ZR, SO 1=3Y 2.5um, 0| 1=350.125um 0| S8fL|ch.

The upper stage moves vertically by either of two means: the ground screw that is directly connected to the handle
or by inserting a wedge to the fine pitch positioner (see Fig. 1 on the previous page). Since the vertical-to-horizontal
ratio of the wedge is 1:4, the vertical movement distance is 1/4 of the wedge push-in depth. For the handle-wheel
type, one rotation corresponds to 0.125 mm and one division of the scale corresponds to 10 pm of movement. For

the fine pitch positioner type, coarse adjustment can be made in 2.5 um increments and fine adjustment in 0.125
pUm increments.

=2y Z AH|0|X]
Bracket Type Vertical Linear Stage

Ed ZAH|O|X|= Xz AH|O|X|E AMEEIJOR FHAEDIO|X% HELICEL LeHoz
AHO|X| = SHA| g Fos AH0|X] Awio] MYEE= A L] A, B 71PE Micrormeger Hoider
AH|O|X| SHHO| FPELICE T, 0| MEfZ +Z O 0|83t= AR, AH|OIX|LHS] AZE0| ! i
SojLts Wwgo= Byt Zaly| Wed, S0 s AH0IXIt Tt AL} o v
UELICL(RZ2<| #f) oto|220|E| B2 FEIXIE HASIH 2XIE shast 20| +2H Z ' 5
AHO|X|QLICL(RE02e| ?)

The bracket type vertical linear stage has an X-axis stage customized to a stand type. Nl cnge  Holger change
Typically, to suppress any influence from the stage top face, the feed mechanism is
mounted on the stage bottom plate. If the stand type is used with this mounting
configuration, a load is applied along the spring extension of the stage and the stage
height may drop due to gravity (as shown in the left part in the right figure). Bracket

type vertical linear stage may solve this problem by position change of micrometer
holder.(see the right part in the right figure).

FI2E{20{ AlZE Z0| About the shaft length of counterbore

2] SR AE AHIOIX HEAIN 0185ts FH2E 20 ™ ™

MEEZ0/ "Shaft Length + mm, 22 BIIBUC. (2518 &%) ——i7 v —

HSELN 0l B LIAE H28ts Z201 01248 EIIJh §2 b B “

BIOIA St AZE 2000t BUICHL(2SI- QEX) 4-for M3 screws / sform3 screws /|
Shaft Lentgh 3mm

The length of counterbore’s shaft for mounting is described “Shaft Length **mm” (Top figure, left) in catalog drawing.

If counterbore does not exist on mounting part, depth size of base will be shaft length size (Top fugure, right)

£9l= *TEL:044-981-2131  FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

LA
Industrial

dyg
Experi-
mental

2539

2E|0| x|

Manual
tage

|
Rotation

AL
(mL2)
Swivel
(Tilt)

X-XY
X+XY

NN

H
Rotation

A8
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

catols
gtA
Driver Box

=2
#Ho|A
Application

2E
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

E-005



NASIAE 2= Z AH|O|X| / H|O|& AIO|= 40X40,50X%50

System
Manual Vertical Linear Stages / Table Size 40 x40, 50 X 50

Products

LA

Industrial

ZMO5A-C1C

kS|
Rotation @ ZMo04AC1 @ ZMO05A-Cc1C

Aoy 50 (37.5)
(2U2) 40
Swivel 30
(Tilt) o 73 (37.5)

HEEY 13 : s0
AH|0|X| "
Motorized
Stage -0,

Clamp®8 "

]
(10.3)
R

.
-—1 1
]
[:l

40
30
24
13

1

]|

|

XXY I

3 | & ‘ P
ey = \‘\ Micrometer Head : i | '
) "\ 4M3 Depth 4mm 3lgla | —
v \\_4M3 Depth 4mm
8M2 Depth 4mm  Clamp ¢ 8 / ? T X
~t

1
| | 4M3 Depth 6mm

2 ¥ O -F"” | 4-M2 Depth 4mm
I @ | IREiE =
= !

(zUe) [
Swivel
(Tilt)

H2RIHE
AH|0|X]| 8
X8

©3)

\
“. Micrometer Head

NN

05

3

o™
Rotation

36+2.5

30+1.5

sies '
. 4for M3 screws
m Back Side 0 40 Shaft Length 2mm
4

:le;ilou Afor M3 screws 20 BAEQI NELIALE 3| BILIC
| Shaft Length 5mm Mounting by low head screw (attachment)

Vacuum 32
Stage

oF @ ZMo05AC1S

HESY

Motor . 60.5 . (57)
Controller

catol
gfA
Driver
Box

oj52|
Aol
Applica-

tion

[=]

8| ﬂl_
|| 4-M3 Depth 5mm CIampOB/:E 275

J
&M2 Depth 5mm / '4M3 Depth 3.5mm

50
40

|
If7a)\)
2

H ©
f | Micrometer Head . [

2
Eajoly
MotorDriver

(95)

ZE3H0lE
Motor
Cable

26.5

CEY
Appendix

56+3.75

i N | N
4-for M3 screws
b - Shaft Length 3mm

ﬂ

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



Y05 [ A=AE 710|= [ 47| [ ofo| 2 =0[E

Aluminum Body / Cross-Roller Guide / Wedge / Micrometer

o4 04 05A 0
Model Number
o2 B4 DUACLR . . ] .
Mirror Model Number
E‘.':;'::;;LE 40mm X 40mm 50mm X 50mm
7101 gy HY 32AE2 70|
Guide Mechanism Cross-Roller Guide
olS Hel
Motion Range +2.5mm +1.5mm +3.75mm
ST
Verticality =4pm/5mm =5um/3mm =6um/7.5mm
A BA| Sum/=3 2.5um/E2 Sum/E3
Minimum Readout Sum/div 2.5um/div Sum/div
SHLUsE
Load Capacity (Horizontal) 24.5N (2.5kgf) 30.2N (4kgf)
Ha AR0|E B3
Material Aluminum Alloy
oz S A opz
Finish Clear-Matt Anodizing
24
Weight 0.19kg 0.29kg 0.41kg
TS oto|220|E #E (13mm) 00| 2 20|E HE (15mm)
Actuator Micrometer (13mm) Micrometer (15mm)
e
Price(JPY) ¥105,000 ¥125,000 ¥110,000
U B8] _ _
Overhaul Price ¥36,000 ¥42,000
EEREESmE|
Clean Room Lubricant Change Price 32 L el el
Fza2|A agh|
Vacuum Lubricant Change Price #3 L “e e el

1 QUE US| DEHEH|E 0| ZEYL|CH YA 22 15H0IX|E BEHFH Q.

(oro|220|H SEE 2B E ch 40| ofgLct)

Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information (Micrometer is not included in the

overhaul).

w2 2YD2A AR @AY 2o°-C"7t 2&Lich 44T A2 C-003H0|X|S

HEAHFHR.

Clean room lubricant model has “-C” at the end of model number.

Page C-003 for further information.

#3 TZD2A AR WAY 2oV 2&Lch dAE A2 C-003H0|X|S

HZHFHR.

Vacuum lubricant model has “-V” at the end of model number. Page

C-003 for further information.

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

O YHA2[f 2= 0-001H|0|X| S EEHFEM L.

Refer to page 0-001 for information on accessory.

O DAYo| 3| YstAE MBMEL ZHsELICH

AT AR SURE BAFMR.

We appreciate the product customizing. Contact us for further information.

LA
Industrial

dyg
Experi-
mental

2539

2H|0|X|

Manual
tage

|
Rotation

AL
(TLR)
Swivel
(Tilt)

X+XY

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

cajoj
gtA
Driver Box

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

E-007



NAHAE 2= 7 AH|O|X] / E|0|& AFO|= 50X 50

System
Products

g
Industrial

uys

ZMO5A-S1K

kS|
Rotation @ ZMO5A-S1K

A4

(mLe)

Swivel

(Tilt) 50

(44)

X+ XY
X+ XY

NN

&M2 Depth 4mm |

(6.5)

1
| 8M3 Depth 6mm

Micrometer Head

Manual Vertical Linear Stages / Table Size 50 x50

1

ZMO5A-C1K

ZMO5A-S3K

@ ZMO5A-S3K

50 (61)

Micrometer Head FPP03-13

n

50
40
30
24
13

@
°,
‘0

(]

[

Clamp®15

Clamp®15 / 255

B
5}
(8.5)
<
¥}

¥
=t

2

rs

3

3
—6’)_—_
=

w

5
2
@

3

3

o™
Rotation

A9l

(@ue) "
Swivel
(Tilt)

L2IRIHE

56+3.25

AH|0|X|
XY8

@ ZMO5AC1K

g
HESY

4for M3 screws
Shaft Length 4mm

50
Motor . 40
30

Controller

E2tolt

()

[T

Driver T
Box o

ol g8a |
Applica- . I

50

tion

2
Eatoly '
MotorDriver 4M2 Depth 4mm |

®
i
\

| 8M3 Depth 6mm

Clamp®15

16.5

4-for M3 screws
040 Shaft Length 4mm

255

ZEjFH0IZ

o

56+3.25
)

iir)

040

4-for M3 screws
Shaft Length 4mm

sy
on
System

=

Micrometer Head

E-008 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



Y20|5 / AZAE2 J10|= [ 0p0|3.2 2{H, 0jo|3 20|

Aluminum Body / Cross-Roller Guide / Micro-Lever, Micrometer

L 0 0 0
Model Number
ojai2g oy DSASIKR ; .
Mirror Model Number

M= ES
Table Size 50mm X 50mm
710|= w4 MY 32As2 Jt0|E

Guide Mechanism Cross-Roller Guide
0|5 el ZE £3.25mm. 0|5 0.15mm
Motion Range SRz Coarse +3.25mm, Fine 0.15mm £3.25mm
P _
Verticality =5um/6.5mm
2 BAl ~5umfES ZE~5um/ES, 01§ =0.25um/i=3 10pm/=3
Minimum Readout 2~ 5um/div Coarse =~ 5um/div, Fine & 0.25um/div 10um/div
SHUsHE
Load Capacity (Horizontal) 19.6N (2kgf)
HaE UR0|E H3
Material Aluminum Alloy
oz S A opZt
Finish Clear-Matt Anodizing
o 0.33k 0.38k 0.3k
Weight 2348 =Ly =G
Y Oo|2 2018 3| (13mm) HY =XM1 FPP03-13(13mm) 0p0|220|H #=(6.5mm)
Actuator Micrometer (13mm) Fine Pitch Positioner FPP03-13 (13mm) Micrometer (6.5mm)
1%
Price(JPY) ¥80,000 ¥112,000 ¥60,000
QHE H8x1 o ~ ~
Overhaul Price ¥24,000 ¥24,000 ¥18,000
e ESmE ]|

Clean Room Lubricant Change Price 32 b ¥12,000
ZZaz2|A mg|

Vacuum Lubricant Change Price #3 b ¥12,000

1 2HE H20 DR FH|= 0| ZHAULICEL AT 22 1SHOIX|S FEAFAL.

(oto|220/E{ S|EE 2B E ch4to| ofELct)

Additional parts cost is not included on Overhaul cost. Refer to page 16

for further information (Micrometer is not included in the overhaul).

2 2UI2A MYR WAY BO“-C"7 2&Lich HME 22 C-003H0IXE

EEAHFHR.

Clean room lubricant model has “-C” at the end of model number.

Page C-003 for further information.

#3 TZD2|A A2 WAE 2o|“V'7t 2&Lch 44T e C-003H0|XIE

HZHFHR.

Vacuum lubricant model has “-V” at the end of model number. Page

C-003 for further information.

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

O UHA2[ol 2= 0-001H|0|X| S & EHFM L.
Refer to page 0-001 for information on accessory.

O 20| 3|YstAl= MEMNEE JHsELIC
HME A2 FULE BAFHL.

We appreciate the product customizing. Contact us for further information.

LA
Industrial

dyg
Experi-
mental

2539

2H|0|X|

Manual
tage

|
Rotation

AL
(TLR)
Swivel
(Tilt)

X+XY

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

cajoj
gtA
Driver Box

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

E-009



AAEHE

System
Products

g
Industrial

uys

s
Rotation

A4
(nLUe)
Swivel
(Tilt)

X+ XY
X+ XY

NN

o™
Rotation

A4
(ae)
Swivel
(Tilt)

HafQIHE
AH|0|X|
XY8

2
HESY
Motor
Controller

catol
gfA
Driver
Box

oj52|
Aol
Applica-

tion

2E
Eajoly
MotorDriver

ZEjFH0IZ

ETRE]
Accessorit

ZAA|AEH
Inspection

25 7 AH|0|X| / H[O|Z AtO|= 70X T0
Manual Vertical Linear Stages / Table Size 70X 70

(56.5)

@ ZMO7AS1K
70
60
40
30
Bis
SRS |
.|
i

70+3.75

—
3 1 4-M4 Depth 6mm
<

Micrometer Head

ZMOTA-S3K

@ ZMO7A-S3K

o

__8M3 Depth 6mm \\_

4-for M4 screws

Shaft Length 3mm
@ ZMO7A-VIF
| |
o[l
0 Eel)
b

4-for M4 screws
Shaft Length 8mm

ke

70

(13) (26.5)

[I
R

7043
(]

ZMOTA-V1F

(57.5)

Micrometer Head FPP03-13

__8&M3 Depth 6mm
4-M4 Depth 6mm |

Clamp®15 t

4-for M4 screws
Shaft Length 3mm
115 (5.3)
10
60
40
o [
T o
[=3X=]
0| < & ®
e
Le
4-M3 Depth 8mm | | Hl
4-M4 Depth 8mm ™1 “Clamp 910
Handle Wheel
40
of [ I |
o ( — .
5 L
8 2
(2]
= w
I I 1l
HE '

Oeo0

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



A20/5 | IZAS J0|<, 4H 23 221 710|E | 00|32 BtH, HEX
Aluminum Body / Cross-Roller Guide, Tetrahedral Flat-Roller Guide / Micro-Lever, Belt-Drive

LA
Industrial
gq - ) ) ndustnal
Model Number
o2y B4 DTASIKR _ ] . g
Mirror Model Number Experi-
H0IE Afol= e
Table Size T0mmX70mm Py
7to|= 4 HYU 32AE3 Jto|= 48 B3 52 710|= AE|0] x|
Guide Mechanism Cross-Roller Guide Tetrahedral Flat-Roller Guide Mt“ ’;i' L
0|5 el ZE +3mm, 0|S 0.15mm -
Motion Range +3.75mm Coarse £3mm, Fine 0.15mm +10mm
ST - - =
Verticality =5um/7.5mm =4um/6mm =6um/20mm
& HAl ~5um/ES ZE~5um/ES, 01§ =0.25um/ES Sum/E3
Minimum Readout 2 5um/div Coarse =~ 5um/div, Fine & 0.25um/div Sum/div
SHLUsE
Load Capacity (Horizontal) 29.4N (3kgf) 117.6N (12kgf
e 2ol5 B3 ]
Material Aluminum Alloy Rotation
opz A obz
Finish Clear-Matt Anodizing
= B
AL 0.7k 0.9k, 1.9k =
Weight . . s Swivel
RS ofo| =3 20/E] 1S (15mm) HY Zx| MU FPP03-13 (13mm) s L
Actuator Micrometer (15mm) Fine Pitch Positioner FPP03-13 (13mm) | Handle-Wheel
712
Price(JPY) ¥80,000 ¥116,000 ¥210,000
FTETTERS] N N
Overhaul Price ¥24,000 ¥42,000 .
2@022 28| XXy
Clean Room Lubricant Change Price #2 AL L
FZae2|A 2|
Vacuum Lubricant Change Price #3 e L z
Z
1 QUE IS0 aEEH|= 0|ZEAL|CL A4E 22 15H0|X| & BEHFH L. O YHAM2|ol 2 E O-001HO|X|S & ZEHFH K.
(0t0|220|E| HIEE 2HE chAfo| opeLct) Refer to page 0-001 for information on accessory.
Additional parts cost is not included on Overhaul cost. Refer to page 16 2H .
for further information (Micrometer is not included in the overhaul). (») 3ﬂg°|}§%’1’é§ H|§7_E|J}_E ZbsEct Rotation
w2 2a|a2|A Aok Ao 1o|“.C” U A He . olxls M A2 HZ 20|F M.
w2 ;;?H,JEB}J“ B BOT-C7F BELCH YAE A2 CO03HOINS We appreciate the product customizing. Contact us for further information. 2
- B N . “® » (_TI_LI 9)
Clean room lubricant model has “-C” at the end of model number. swivel
Page C-003 for further information. {Tilt)
#3 TZa2|A A2 EAY Zo“V2t &LIch MMt 22 C-003H0|X|S
HEHFHR. HIHE
Vacuum lubricant model has “-V” at the end of model number. Page 20| x|
C-003 for further information. Xve
2
HEEY
Motor
Controller
catols
EIES
Driver Box
=2|
#lol4
Application
2
cajo|ty
Motor
Driver
2F
#Holg
Motor
Cable
25
Appendix
£9l= *TEL:044-981-2131  FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp E-011



LA

Industrial

uys

s
Rotation

A4
(mUe)
Swivel
(Tilt)

X+ XY
X+ XY

o™
Rotation

A4
(zUe)
Swivel
(Tilt)

H2RIHE
Ag|o0[x|
XYe

Tz
AE|0|x]
Vacuum
Stage

HOfEHA|
Control
Electron-
1cs

2
HESY
Motor
Controller

Eajo|ey
gfA
Driver
Box

oj=2|
Aol

Applica-
tion

2E
Eatoly
MotorDriver

ZEjFH0IZ

Accessories

HAA A
Inspection
SEC

E-012

A= 7 AH|O|X| / H|O|Z AIO|= 70X 70
Manual Vertical Linear Stages / Table Size 70X 70

@ zZmo7AC3C

@ ZMo7AC6CO1

ZMOTA-C3C

102.5

(47.5)

325

=

ZMOTA-C6C01

h

2

NS

| ]

S4E0 M ELIALR FS#LICH
Mounting by low head screw (attachment)

70

elsls % 5w s
@ Micrometer Head FPP03-13
o 4M4 Depth Smm
£M3 Depth 8mm
0 N -
- -
3 >
< . ]
b @
T -
4for M4 screws
Shatt Length imm
(147)
70 (77)
60
40
30
R
4 04} @ il .
89 R /-\ 2
kj D £
&
& $q\ @ i
Q 34 Handle Whed
' 4-M4 Depth 8mm
8-M3 Depth 6mm
’91
) S 2 J * "
o . & L e—1I E ||
3 ENENR
® 32 [ T ™~

BAZ0I M SLIALR 3|8 #Lc
Mounting by low head screw (attachment)

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



UR0|5 /[ AZAER 10| [ 27|
Aluminum Body / Cross-Roller Guide / Wedge

LA
Industrial
¥4 0 0 6C0
Model Number
0j22Y H4 . . 07ACECO dus
Mirror Model Number Exper "l
H|O|E AtO|= mental
Table Size T0mmX70mm Py
7to|= 24 HY 32AE2 0| 2E|0| x|
Guide Mechanism Cross-Roller Guide Mt“ ’éi' al
ols el ZE +15mm, 0| 0.075mm +2 6mm -
Motion Range Coarse +1.5mm, Fine 0.075mm -
ST < <
Verticality =3um/3mm =5um/5mm
& HAl ZE~2.5pm/ES, 015 = 0.125um/=3 10pm/=3
Minimum Readout Coarse = 2.5um/div, Fine & 0.125um/div 10um/div
Bt
Load Capacity (Horizontal) 48N (Skef)
e ¥R0ls o3 oy
Material Aluminum Alloy Rotation
opz A4 oz
Finish Clear-Matt Anodizing
S (ﬁﬁ{g )
A 0.75k 0.85k L2
Weight . s Swivel
RS HY Zx|MU FPP03-13 (13mm) s L)
Actuator Fine Pitch Positioner FPP03-13 (13mm) Handle-Wheel
217
Price(JPY) ¥195,000 ¥205,000
HE H|B31 ~
Overhaul Price ¥42,000 XY
. :
gglaesagul ¥30,000 XeXY
Clean Room Lubricant Change Price #2
FZae2|A 2|
Vacuum Lubricant Change Price #3 ~Ed Z
z
1 QUE IS0 aEEH|= 0|ZEAL|CL A4E 22 15H0|X| & BEHFH L. O YA AM2|0l| sHME 0-001HOIXIE HZHFH L.
(0t0|220|E| HIEE 2HE chAfo| opeLct) Refer to page 0-001 for information on accessory.
Additional parts cost is not included on Overhaul cost. Refer to page 16 2H .
for further information (Micrometer is not included in the overhaul). (») 3ﬂg°|}§%’1’é§ H|§7_E|J}_E ZbsEct Rotation
w2 2a|a2|A Aok Ao 1o|“.C” U A He . olxls M A2 HZ 20|F M.
w2 gi?“_,'sla&h;" B BOT-C7F BELCH YAE A2 CO03HOINS We appreciate the product customizing. Contact us for further information. ﬁ—u_
Clean room lubricant model has “-C” at the end of model number. fSJV\_nJeQI)
Page C-003 for further information. {Tilt)
#3 TBa2A A2 EAY 2o|“V'7t B&Lch AME 22 C-003H0|X|IE
HEHFHR. HIHE
Vacuum lubricant model has “-V” at the end of model number. Page 20| x|
C-003 for further information. Xye
2
HEEY
Motor
Controller
catols
EIES
Driver Box
=2|
#lo|
Application
2
cajo|ty
Motor
Driver
2F
#Holg
Motor
Cable
25
Appendix
22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp E-013



LA

Industrial

s
Rotation

A4
(mUe)
Swivel
(Tilt)

X+ XY
X+ XY

o™
Rotation

A4
(zUe)
Swivel
(Tilt)

HafQIHE
AH|0|X|
XY8

Tz
AH|0|X|
Vacuum
Stage

HOfEHA|
Control
Electron-
1cs

2
HESY
Motor
Controller

Eajo|ey
gfA
Driver
Box

oj=2|
Aol

Applica-
tion

2E
Eatoly
MotorDriver

ZEjFH0IZ

Accessories

HAA A
Inspection
System

E-014

= 7 AH|O|X| / E|O|E AIO]= 100X 100
Manual Vertical Linear Stages / Table Size 100X 100

@ zZM10AC3C

@ zmM10AC6EC

ZM10A-C3C

ZM10A-C6C

L)

Lol

Lel |
e

77
&%

100 31 (47.5)
) 90
60
40
® ®
3 © —
A =
8589 Iasma il
_.\/ ©
& &
®
R @
o ', 8M4 Depth 7mm
4-M3 Depth 8mm
Micrometer Head FPP03-13
o J
0 . /
§ - - .
o 8 5 o - = N
L, seajzro 3 !,' ]
190 45or M4 screws
Shaft Length 3.5mm
100 31 (44.5)
90
60
40
Clamp®8
— | : | Clamp®8
® i ®
o | &
I & @
Soole H ]_H . -
N ©)
® , K Handle Wheel
— - I &
o ", 8M4 Depth 7mm
4-M3 Depth 8mm
o J
0 . y
a o = EB: E ml |
o o 0 P—_q o o E EL I M
[.L_J b sa3ara g i‘_ ’]
9o 4for M4 screws

Shaft Length 3.5mm

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



UR0|5 /[ AZAER 10| [ 27|
Aluminum Body / Cross-Roller Guide / Wedge

LA
Industrial
¥4 0A 0A-C6
Model Number
EEEPED . : dys
. OA 0 0 Experi-
Mirror Model Number P f
0l Ajol= "
Table Size 100mmx 100mm Py
7to|= 24 HY 32AE2 0| 2E|0| x|
Guide Mechanism Cross-Roller Guide M{j‘ ’éi' al
ols el ZE +15mm, 0| 0.075mm +2 6mm -
Motion Range Coarse +1.5mm, Fine 0.075mm -
+3E - -
Verticality =3um/3mm =5um/5mm
& HAl ZE~2.5pm/ES, 015 = 0.125um/=3 10pm/=3
Minimum Readout Coarse = 2.5um/div, Fine & 0.125um/div 10um/div
Bt
Load Capacity (Horizontal) 68.6N (Thgh
Ha ETITEY oy
Material Aluminum Alloy Rotation
opz A4 oz
Finish Clear-Matt Anodizing
o (ﬁﬂ{g )
R 1.7k 1.8k e
Weight £ | e Swivel
RS HY Zx|MU FPP03-13 (13mm) s L)
Actuator Fine Pitch Positioner FPP03-13 (13mm) Handle-Wheel
217
Price(JPY) ¥230,000 ¥240,000
ouE HIB#1 N N
overhaul Price ¥42,000 ¥42,000 o
. :
gz o ¥30,000 XeXY
Clean Room Lubricant Change Price #2
FZae2|A 2|
Vacuum Lubricant Change Price #3 ~Ed Z
z
1 QUE 20| RELEH|= 0|ZHAL|CL 44T 22 15HO0IX| & BEHFH Q. O YA M2]0l| M= 0-001HOIXIE HZHFH L.
(oto|2Z20|E |EE 2HE ciato] opgL|ct.) Refer to page 0-001 for information on accessory.
Additional parts cost is not included on Overhaul cost. Refer to page 16 i) )
for further information (Micrometer is not included in the overhaul). © 17yo| ﬁl%’ﬂkli HEMNZEE 7HsEct Rotation
=] =

52 B2A02|A Al WA Bo|-C'7} BALIC ALY 2 C-003H0|X|S ANt HYE YURE FATMR. . :

AZEHFH Q. C3C, C3C-RQ T2|A mBe AH|0|X| EH|OH 7psBiL|ct, We appreciate the product customizing. Contact us for further information. 2
Clean room lubricant model has “-C” at the end of model number. fsjv;lljegl)
Page C-003 for further information. Lubricant change is not avairable (Tilt)
for actuators on stages that include the C3C model.

%3 TEIIA AR WA BO|-V"7t BALICH AYS Z2 C-003H0| XIS eoIUE
AZS)ZFEMH Q. C3C, C3C-R 22| ADER AH|0|X| £H|2 7hsELCE AH|0[X|
Vacuum lubricant model has “-V” at the end of model number. Page Xve
C-003 for further information. Lubricant change is not avairable for
actuators on stages that include the C3C model.

SE]
HEEY
Motor
Controller
catols
EIES
Driver Box
=2|
#lo|
Application
SE]
cajo|ty
Motor
Driver
2F
#Holg
Motor
Cable
25
Appendix

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp E-015



AARHE

System
Products

g
Industrial

s
Rotation

A4
(nLUe)
Swivel
(Tilt)

X+ XY
X+ XY

NN

o™
Rotation

A4
(zUe)
Swivel
(Tilt)

L2RIHE
2E|0|x|
X8

2
HESY
Motor
Controller

Eatoly
gfA
Driver
Box

oj52|
Aol
Applica-

tion

2E
Eajoly
MotorDriver

g
spection
System

E-016

A5 7 AH|O|X| / B0]E AtO]= 30X 30, 40 X 40, 50X 50, T0X 70

Manual Vertical Linear Stages / Table Size 30X 30, 40 X40, 50X 50, 70X 70

| GZMO3S X1 |

GZM04S-X1

@ GZMO03S-X1
Clamp®6 P1e
b -
W 1 Micrometer Head
7
(7.3) 12/8
— 1
3 a]ﬁ
Ba
8M2 Depth 3mm \
] i —l—"'

$4 H7 Depth 3mm

@ GZMO05S-X1

Clamp®8

4-for M2 screws
Shaft Length Smm

(9.3).

50
40
30

8M3 Depth 4mm

4 H7 Depth 4mm

40
®4 H7 Depth 4mm Shaft Length 4mm
@ GZMO7S-X1
S
¢ o ¢
Micrometer Head Clamp®8
/ I Mi ter Head
al|ial crometer Hea
16 /13 : @ |'|I
w 03 0 20) 18 IL'12
|
i N
)
[Te}
~
R —
2 °/g8 % 3
T, g
M= 3 8
| — (=]
50 B
4-for M3 screws
Shaft Length 7.5mm
r
8M4 Depth 4mm : ‘IT u
’ El(r\ 4-for M4 screws 70

®4 H7 Depth 5mm

| GZMOSS X1 |

GZMO7SX1
@ GZMo4s-X1
® | ®
Clampds . Micrometer Head
o | o /i '{’."‘
©3) _ 40 _(20) "
. 30
24 “
|
I 817 ~
T i [Te)
IR H » 18
0‘ ]
7

4-M3 Depth 4mm
4-M2 Depth 3mm

ﬁt__ '\: 1
\_D_SOJ 4-or M3 screws

Shaft Length 7mm

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com




SUS /438 / 1| 0}3 / 00| A20[E| Af0|= &4
SUS Body / Vertical X / Gothic-Arc / Side-Mount Micrometer

AUAE
Industrial
gq ) " ; ) ndustnal
Model Number
CREFE D35 X1R —_— —— e ags
= 1 Experi-
Mirror Model Number P
B mental
Hlol= ”.ol_ 30mm X 30mm 40mm X 40mm 50mm X 50mm 70mm X70mm
Table Size 2=xY
710| = 4 (=] AH[0|X|
Guide Mechanism Gothic Arc M{j‘ nu al
ol #$| + + —
Motion Range +3.25mm +6.5mm
FIT < <
Verticality =10pm/6.5mm =10pum/13mm
XA BA 10um/=2
Minimum Readout 10pm/div
SHUIE
Lowsl Capacity (Horlzontal) 19.6N (2kgf) 29.4N (3kgf)
M2 SUS440C (B8 = 2=20|5 E3)
Material SUS440C (Bracket material is Aluminum Alloy)
ok orZt H2| 83 (B3R WA op)
Finish Nothing (Bracket finishing is Clear-Matt Anodizing)
wi::n 0.14kg 0.31kg 0.49kg 0.95kg
TSUY oto|320/E H|E (6.5mm) 0to|220|E #|E (13mm)
Actuator Micrometer (6.5mm)) Micrometer (13mm)
e
Price(JPY) ¥26,000 ¥30,000 ¥36,000
2|2 DEH| ¥3.000
Clean Room Lubricant Change Price 1 ’
FZaz2|A ag| - §;((YY
Vacuum Lubricant Change Price #2
w1 202 A A2 FAY Zof|“-C"7t E&LIch 44T A2 C-003HOIXIE © YMM2|0f BsiAE 0-001H|0|X|S HEHNFHIR. z
xS FH . 00| 20|E L HAFFLICH (BAEs 2202|145 7|2 Refer to page 0-001 for information on accessory. z
AteFiLct)
Clean room lubricant model has “-C” at the end of model number. © 24Ho| YUY = HENEE 7HsELICH
Page C-003 for further information. Only Micrometer part can change AT A2 GYRE BOAFHIR. A
the clean room lubricant (Body part is already used the clean room We appreciate the product customizing. Contact us for further information. Rotation
lubricant).
#2 TZo2|A mee EoteLch A
Vacuum lubricant exchange is not available. (3AL|2)
Swivel
(Tilt)
A2IHE
AHO|X|
XY@
2
HESZ
Motor
Controller
cato|y
CIES
Driver Box
G
#lol4
Application
2
catojy
Motor
Driver
2
#Holg
Motor
Cable
g5
Appendix

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp E-017



AARHE

System
Products

g
Industrial

uys

s
Rotation

A4
(mLe)
Swivel
(Tilt)

X+ XY
X+ XY

NN

o™
Rotation

A4
(ae)
Swivel
(Tilt)

HafQIHE
AH|0|X|
XY8

2
HESY
Motor
Controller

Eajo|ey
gfA
Driver
Box
=2
Aol
Applica-

tion

2E
Eajoly
MotorDriver

ZEjFH0IZ

sy
on
System

E-018

25 7 AH|O|X| / E{|0]2 AFO|= 50X 50, 70X 70, 100X 100

Manual Vertical Linear Stages / Table Size 50X 50, 70X 70, 100 X100

090

ZMO5A-X1
@ ZMO5A-X1
Clamp®15
(16.5) 50 (14.8)
40
.30
13
9 T<>
ogom‘ L-_‘ll. "o
0| M- ) L 00
| Rl 8
e 4M2 Depth 6mm
9M3 Depth 6
:I i i .
40 4-for M3 screws 50
- - Shaft Length 7.5mm - -
@ ZM10A-X1
6 & 4
Clampd15 | |
T 5 g )
(16.5) 100 (26)
90
60
40
.30
. |A°
: o °
v T G’?
§ 8898 —] §
L 3t | * | M4 Depth 6mm
' o ° X
® «.\
N s 8M3 Depth 6mm
A &M4 Depth 6mm
3 HH

4for M4 screws
Shaft Length 9.5mm

n

ZMO7A-X1

@ ZMO7A-X1

Clamp®15

(16.5)

% | &
jeeiiioo]

ZM10A-X1

Re9 8|
P — e
8M3 Depth Smm
+—H 54 Depth Smn
- il
T
l_ Oe0 4-for M4 screws
- Shaft Length 7mm
Micrometer Head
o
=+
Al
o
(2]

100

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com

Micrometer Head

105




22015 | 458 | 3225 700 |00l 3Z00E| NOI= B4 e g i o s

Aluminum Body / Vertical X / Cross-Roller Guide / Side-Mount Micrometer

LA
Industrial
o4 05A 07A 0A
Model Number
0j22Y 84 . . . dus
. 05A O7A OA Experi-
Mirror Model Number P
B mental
EloIE Hoix 50mmX50mm 70mmX70mm 100mm 100mm
Table Size 2=xY
70| 4 HY 32AE2 0| 2E|0| x|
Guide Mechanism Cross-Roller Guide PSVR ';Le'al
015 sl " + + -
Motion Range +3.25mm +6.5mm +12.5mm
=
Ve?t::lality =5um/6.5mm =Tum/13mm =10pum/25mm
A EA 10um/E3
Minimum Readout 10um/div
Bt
Load Capacity [Hortzontal 19.6N (2kgf) 29.4N (3kgf) 39.2N (4kgf)
EE 205 82 ]
Material Aluminum Alloy Rotation
opz S A opg
F::;lh Clear-Matt Anodizing (¢ ﬂ% )
oL Q
Weight 0.3kg 0.8kg 1.8kg Swhel
FE94 ofo|220]E H|E (6.5mm) oro|220/E SIS (13mm) ojo| 2 20]Ef HE (25mm) L]
Actuator Micrometer (6.5mm) Micrometer (13mm) Micrometer (25mm)
712
Price(JPY) ¥50,000 ¥65,000
2U|E HI8x1 _ _
e ¥15,000 ¥15,000 o
Saa2|A DEH| ¥12.000 X-XY
Clean Room Lubricant Change Price 32 ’
FZoa|A |
Vacuum Lubricant Change Price #3 S Z
Z
1 QUHE H|20| RELEH|= 0| ZEYL|CE L4E 22 15H0|X| & BEHFH Q. O UHA2[0f 2= 0-001H|0|X| S & EHFEM L.
(00|32 20/H S EE= 2HE chAfo| otglLct) Refer to page 0-001 for information on accessory.
Additional parts cost is not included on Overhaul cost. Refer to page 16 ﬂﬂ_
for further information (Micrometer is not included in the overhaul). O 2Zdo| EI%'EHIE HEMNEE 2HsELct Rotation
Al =3 FELES
52 BU02A AYE WA Bo.C'} BALICH A4 RS C-003HOIK|S SNB NBE JULE BAFMD. . . R
HEHEHS. We appreciate the product customizing. Contact us for further information. o)
Clean room lubricant model has “-C” at the end of model number. Swivel
Page C-003 for further information. {Tilt)
#3 TZa2|A A2 WAH 2o|“V'7t 2&Lch 4ME e C-003H0|XIE
HEHFHR. HIHE
Vacuum lubricant model has “-V” at the end of model number. Page 20| x|
C-003 for further information. Xye
2
HEEY
Motor
Controller
catols
EIES
Driver Box
=2|
#lol4
Application
2
cajo|ty
Motor
Driver
2F
#Holg
Motor
Cable
25
Appendix

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp E-019



NAGIHE
System
Products

s
Rotation

A4
(mue)
Swivel
(Tilt)
2E|0|x|

Motorized
Stage

X+ XY
X+ XY

o™
Rotation

A4
(zUe)
Swivel
(Tilt)

Yajolne
AEfo[x|
XYe

2
HESY
Motor
Controller

Eajo|ey
gfA
Driver
Box

oj=2|
Aold

Applica-
tion

2E
Eatoly
MotorDriver

ZEjFH0IZ

Accessories

HAA A
Inspection
SEC

E-020

=& Z AH|O|X] &g
Manual Vertical Linear Stages List

40mm X 40mm

y (Horizontal)

245N (2.5kgf)

2

Weight

0.19kg

Price(JPY)

¥105,000

Page

E-006~E-007

ZMO5A-C1S

50mm X 50mm

+3.75mm

39.2N (4kgf)

0.41kg

¥110,000

E-006~E-007

ZMO5A-S3K

50mm X 50mm

Coarse +3.25mm, Fine 0.15mm

19.6N (2kgf)

0.38kg

¥112,000

E-008~E-009

ZMO7A-S1K

TOmmX70mm

+3.75mm

29.4N (3kgf)

0.7kg

¥80,000

E-010~E-011

ZMOTA-V1F

TOmmX70mm

+10mm

117.6N (12kgf)

1.9kg

¥210,000

E-010~E-011

ZMOTA-C6CO01

TOmmX70mm

+2.5mm

49N (Skgf)

0.85kg

¥205,000

E-012~E-013

ZM10A-C6C

100mm X 100mm

+2.5mm

68.6N (Tkgf)

1.8kg

¥240,000

E-014~E-015

GZMO04S-X1

40mm X 40mm

+6.5mm

29.4N (3kgf)

0.31kg

¥26,000

E-016~E-017

GZMOT7S-X1

TOmmX70mm

+6.5mm

29.4N (3kgf)

0.95kg

¥36,000

E-016~E-017

ZMOTA-X1

TOmm X 70mm

+6.5mm

29.4N (3kgf)

0.8kg

¥50,000

E-018~E-019

0|22 @2 WerstlgLct
Mirror Model Number is omitted

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



